Biology 3201 
Assignment 2 
Dihybrid crosses
1.  In peaches the allele for downy skin (D) is dominant to the allele for smooth skin (d). The allele for long fruit (L) is dominant to the allele for short fruit (l). What are the expected phenotypic and genotypic ratios for the offspring  that occur as the result of a cross between a purebred downy skin, long fruit and a smooth skin, short fruit

2.  Using the information from number one predict the phenotypic and genotypic ratios of the offspring from a cross between a homozygous downy short plant and a heterozygous downy ,homozygous long plant.

3. In garden peas the allele for round seeds (R) is dominant to the allele for wrinkled seeds (r); and the allele for yellow(Y) is dominant to the one for green(y).

a. A homozygous round, homozygous yellow plant is crossed with a wrinkled green plant.  Predict the genotypic and phenotypic ratios of the offspring.
b. Cross the F1 generation of the above cross and predict their genotypic and phenotypic ratios

c. A heterozygous round heterozygous yellow plant is crossed with a wrinkled homozygous yellow plant. Predict the genotypic and phenotypic ratios of the offspring.

4.  In guinea pigs the color Black (B)  is dominant to white(b) and  Long hair (L) is dominant to short hair(l). 

a. A heterozygous black, short hair male is crossed with a white, heterozygous long hair female. Show the cross and predict the genotypic and phenotypic ratios

b.  A heterozygous black, heterozygous long hair male is crossed with a heterozygous black, heterozygous long hair female. Predict the genotypic and phenotypic ratio of the offspring.
c. A homozygous black, short hair male is crossed with a white, short hair female. Predict the genotypic and phenotypic ratios of the offspring.

5.
In summer squash, white fruit color (W) is dominant over yellow fruit color (w) and disk-shaped fruit (D) is dominant over sphere-shaped fruit (d)..  If a squash plant true-breeding for white, disk-shaped fruit  is crossed with a plant true-breeding for yellow, sphere-shaped fruit,  what will the phenotypic and genotypic ratios be for:

a. the F1 generation?    
 b. the F2 generation? 

